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Verbal Reasoning

- Synonyms

1. ABSCOND =to escape secretly, especially in order to avoid arrest or prosecution

A. decamp
depart suddenly or
secretly

B. mesmerize
hold the attention of
someone completely

C. spurn
reject with disdain or
contempt

2. FEIGN = pretend to be affected by a feeling, state, or injury

A. abdicate
fail to fulfill or
undertake

B. curtail
reduce in extent or
quantity

C. egress
go out of or leave (a
place)

3. GAMUT = the complete range or scope of something

A. artifice
clever or cunning devices
used to trick others

B. breadth
wide range or extent of
something

4. PUISSANT = having great power or influence

A. garish

excessively bright and
showy

5. IRASCIBLE = having

A. petulant
childishly sulky or bad-
tempered

B. implicit
implied though not
plainly expressed

or showing a tendency to
B. punitive
inflicting or intended as
punishment

C. charlatan
a fraud claiming a special
knowledge or skill

C. licentious
promiscuous and
unprincipled

be easily angered
C. quixotic
exceedingly idealistic
and impractical

6. OBSEQUIOUS = excessively eager to please or obey

A. convoluted
extremely complex and
difficult to follow

7. SCATHING = witheri
A. scornful

feeling or expressing
contempt or derision

B. insolent
showing a rude and
arrogant lack of respect

ngly scornful; severely cri
B. strenuous

requiring or using great
exertion

C. officious
meddlesome in offering
unwanted help

tical

C. tumultuous
excited, confused, or
disorderly

8. DEBACLE = a sudden disaster, defeat, or humiliating failure

A. acolyte
an assistant or follower
(religion)

9. POTENTATE = amo
A. sovereign

a supreme ruler,
especially a monarch

B. catastrophe
a disaster, often sudden,
that causes great damage

B. sycophant
one using excessive
flattery to gain favor

C. inquisition
a period of intensive
questioning

C. truant
one who skips school
without leave to do so

D. supplement
add an extra element or
amount to

D. masquerade
pretend to be someone
one is not

D. hiatus
a pause or gap in
something (a process)

D. potent
having great power,
influence, or effect

D. scurrilous
slanderous with intent to
damage a reputation

D. unctuous
excessively or
ingratiatingly flattering

D. uncouth
lacking good manners,
refinement, or grace

D. onslaught
a fierce or destructive
attack

narch or ruler, especially an autocratic one; one with great power

D. usurper
one who seizes hold of
something by force

10. AVID = having or showing a keen interest in or enthusiasm for something

A. agile
able to move quickly and
easily

B. enthusiastic
having/showing intense
interest in something

C. erudite
having or showing great
knowledge or learning

D. fetid

smelling extremely
unpleasant
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11. IDYLLIC = extremely happy, peaceful, or picturesque (such as idyllic scenery)

A. inane B. serene C. tantamount D. ubiquitous
silly; stupid; foolish calm, peaceful, and virtually the same as present, appearing, or
untroubled; tranquil something else found everywhere

12. BELLIGERENT = hostile, ready to start a fight, or ready to go to war

A. discreet B. garrulous C. malevolent D. pugnacious
careful in one’s speech excessively talkative, esp. | having or showing a wish | eager or quick to argue,
and actions on trivial matters to do evil to others quarrel, or fight

13. AMBIVALENT = having mixed feelings or contradictory ideas about something or someone

A. ambulant B. derelict C. indolent D. irresolute
able to walk around; not | in very poor condition wanting to avoid activity | showing or feeling
confined to bed due to neglect or exertion; lazy hesitancy; uncertain

14. MITIGATE = to make something less harsh, severe, or violent

A. alleviate B. Dbolster C. delineate D. fabricate
make less painful, support or strengthen; describe or portray invent or concoct
difficult, or severe prop up something precisely something (to deceive)

15. TRANSIENT = lasting for only a short time and quickly coming to an end

A. ambient B. dogged C. fleeting D. indubitable
of or relating to the having or showing lasting for a very short impossible to doubt;
immediate surroundings | tenacity and persistence | time unquestionable

16. VIE = to strive for superiority or compete with somebody or something

A. attend B. contend C. extend D. portend
be present at an event, engage in a competition | make longer or wider a sign that something is
meeting, or function in order to win likely to happen

17. COALESCE = come together and form one mass or whole

A. acclimate B. amalgamate C. capitulate D. transmute
become accustomed to combine or unite to form | surrender or cease to change in form, nature,
new conditions (climate) | one structure resist or substance

18. CAJOLE = persuade someone to do something by sustained coaxing or flattery

A. divulge B. inveigle C. propitiate D. succumb
make known (private or | persuade (someone) to win or regain the favor of | fail to resist a negative
sensitive information) do something by flattery | someone (gifts or acts) force (die from illness)

19. DETRIMENTAL = causing damage, harm, or disadvantage

A. injurious B. intrepid C. persnickety D. precarious
causing or likely to cause | fearless; adventurous caring too much about not securely held or in
damage or harm trivial or minor details position; uncertain

20. RETICENT = not revealing one's thoughts or feelings readily

A. amenable B. brusque C. cagey D. heuristic
easily persuaded or abrupt or offhand in reluctant to give enabling a person to
controlled speech or manner information (cautious) learn for themselves
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Verbal Reasoning - Sentence Completions

21. The level of discipline at the school had declined sharply due to the principal’s lax

- C
policies.

Since the principle’s policies cause a decline in discipline, we need to find a word

Explanation that will cause this decline. This leaves lax (not strict) as the only viable answer.

22. Esther’s second novel was well-received by the public; it sold seven million copies

and brought the young author widespread acclaim. 5

The keywords here are “well-received by the public.” We are looking for a positive
Explanation  word. Acclaim (to praise somebody publicly and enthusiastically) is the most
logical answer.

23. Those opposed to the project accused its proponents of merely trying to channel

C
resources away from necessary but unpopular programs.

We are looking for a word that describes changing resources (money) from one
Explanation  area to another. Channel (direct something along a specific route) is the only word
that describes this action.

24. Stephanie’s initial successes served to bolster her confidence in her abilities.

B

The keywords here are “successes” and “confidence.” We are looking for a positive
Explanation  description of Stephanie’s confidence. The word bolster (to strengthen something
through support) best matches this description.

25. The country bumpkin’s colloquial speech was an endless source of amusement for

the pretentious noblemen. A

We are looking for a word that describes the “bumpkin’s” (a country person
Explanation  regarded as unsophisticated) speech. The only answer choice that is seen as
unsophisticated is colloquial (not formal or literary).

26. Providing a nutritious diet and plenty of fresh air and sunshine will ensure that

your goats grow up healthy and robust. ¢

The keyword here is “healthy.” The word robust (strong, healthy, and hardy in

Explanation o . .
p constitution) is the closest answer choice that resembles the word healthy.

27. The country’s constitution protects the fundamental rights of its citizens: those

that cannot be changed or taken away. B

The words that come after the semicolon will describe the correct answer choice.
Explanation ~ We are looking for something that cannot be changed. Thus, the correct answer
will be fundamental (basic necessary component of something).

28. Newspapers reported on the turmoil throughout the city the day after the stock

. . . D
market crashed; looting, riots, and bonfires were common.

The words after the semicolon will describe the correct answer. Looting, riots, and
Explanation  bonfires are all disruptive and unusual behaviors. Thus, the correct answer is
turmoil (a state of great disturbance).
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29. During college, Karl was a devoted radical, but as he matured he began to

moderate some of his more dogmatic beliefs. ¢

The word “but” tells us that Karl’s “radical” beliefs have changed and the previous
radicalism must be moderated (to become less extreme). This double negative
will cause the correct answer choice to mirror Karl’s original belief. Thus, the
answer must be dogmatic (prone to expressing strongly held beliefs and opinions).

Explanation

30. Under the terms of the treaty, the former adversaries had to become cooperative

B
partners.

The key word here is “former,” stating that the “cooperative partners” were once
Explanation  enemies. Thus, the right answer choice must be adversaries (an opponent in a
conflict).

31. Although the mechanics of the jllusion were clear to most of us, our more

credulous brother was fooled by the magician’s display. A

A magician displays tricks or illusions. Since the majority of the people were able
Explanation  to understand the magicians display, the brother must have an attribute unlike the
others. Thus, the answer choice must be illusion and credulous (easily convinced).

32. The compulsory limitations on spending imposed by the government had little

effect in the small town, whose elected officials were already quite frugal. A

The key word is “already,” which tells us that the two words must agree with each
Explanation  other. The limitations on spending will describe how the elected officials behaved.
Thus, the answer must be compulsory and frugal (involving very little expense).

33. Even a cursory look at the budget reveals a large number of unnecessary

) B
expenditures.

The word “Even” implies that the first blank will not be an in-depth look. The
word “budget” implies that the subject matter of the second blank will relate to
money. Thus, the answer will be cursory (very quick) and expenditures (an
amount of money spent).

Explanation

34. Richard’s essay was inconsistent; what began as an impassioned plea on behalf of

. . : , C
the underserved poor soon devolved into an irreverent social satire.

The key word here is “inconsistent.” This tells us that the two words will oppose
each other. The word “irreverent” (lacking respect) implies that the second blank
will be negative. Thus, the answer must be impassioned (expressing strong
feelings) and satire (use of wit to criticize behavior).

Explanation

35. This series of imperatives requiring the admission of students from different ethnic

backgrounds is intended to increase the cultural diversity of the student body. ¢

The words before “intended” will cause the answer of the second blank. Since the
students of “different” ethnicities are chosen for admission, the variety of cultures
will increase. Thus the only answer choice possible is imperatives (absolutely
necessary) and diversity (a variety of something).

Explanation
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36. Dante hoped to be immortalized by his invention; instead, a rival product quickly

rendered it obsolete. :

The word “instead” tells us that the two blanks will oppose each other. The first
blank should be positive, due to the word “hoped.” Thus, the only answer choice
possible is immortalized (to make somebody famous for a long time) and obsolete
(no longer in use).

Explanation

37. Unsatisfied with his subordinate position, Ebenezer decided to quit his job as a

valet. D

The first blank must describe the type of job the second blank is. The only answer
Explanation  choice possible is subordinate (secondary in importance) and valet (performing
car parking).

38. It does not take a very astute ear to distinguish between the prattle of an amateur
and the refined speech of an experienced orator.

B

The keywords here are “of an amateur.” This tells us that the second blank will
describe what an amateur may do. The definition of orator is a person who gives
speeches. The only answer that fits for an amateur speech giver will be astute
(perceptive) and prattle (talk idly).

Explanation

39. Despite her casual and glib manner, [ was able to discern a note of unhappiness in
her voice.

B

Due to the word “despite,” the first blank needs to agree with the word “casual”
and differ from “unhappiness.” The second blank must an action that the author

Explanation =~ was able to do. The author of the sentence cannot prevent, or conceal a note of
happiness in her voice. The correct answer must be glib (casual and relaxed) and
discern (notice something).

40. My attempts to instill a love for reading in my students seem to have had the

opposite effect; they now play video games more than ever. ¢

The first blank must describe an action that can insert “a love of reading” into
Explanation  students. The only answer choice possible is instill (to impress ideas in
somebodies mind) and effect (power to influence).
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Quantitative Reasoning

1. 7:00 PM

Tools:
Steps:

Quick Tips:

C

distance, rate, time, deciphering word problems

(1) The similar variable between the two trains is the distance when they meet

(2) The first train will have.75 added to its time since it leave 45 minutes later
(C+7%= ()

(3) Plug in the velocity of the first train on the left and the velocity of the second
train on the right (8 @ + .7 5= 9 0)

(4) Multiply the 80km/hr to both tand.75(8 0+ 6 0= 9 0)

(5) Subtract 8 O from both sides (6 0= 1 0)

(6) Divide 10 on both sides (6 = )

(7) We need to add the 6 hours and 45 minutes of the time the first train left
(7:00 pm)

9 Train problems will most likely require you to set the distance of both trains
equal to each other

2. 15

Tools:
Steps:

Quick Tips:

order of operations, balancing equations

(1) First multiply the 4 into the parenthesis (4 +2 43 =39
(2) Subtractthe4 bythe3 ( +2 439

(3) Subtract 24 from both sides( =1 9

1 Remember PEMDAS

3. 220

Tools:
Steps:

Quick Tips:

deciphering word problems
(1) Set up the equation of the three coins in terms of nickels

(2) The number of dimes in terms of nickels is %

(3) The number of quarters in terms of nickels is %

(4) Add these two value and multiply them with their respective values ( (.0 %+
1 1

= (.1)+§ (.25=29H

3

(5) Find the lowest common denominator between all the fractions

€ (05+: (D+> (25=23
2 75

(6) Multiply the monetary value to the fraction (g ts to =23
(7) Add the fractions together (%5 =295

(8) Multiply both sides by 6 and divideby 12 § =1 2)0

(9) Now insert this value for ~ and solve (1 2 8 3(1 2)0 5(1 2)0= 2 2)0

9 Pay attention to the order of the words
9 Divide the worth of the coin by 100 to find the decimal form
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5 B
Tools: functions
Steps: (1) The number to the right of the frowning face will take that place of (3% — 4)
(2) Find the square of 3 (9 — 4)
(3) Subtract 4 (5)
Quick Tips:  The frowning face can be replaced with ( ) ifitis confusing you
12 C
Tools: combinations
Steps: (1) Use the combinations formula without the factorials %;1;1)
2 - +1- -2+1- - 1isthelastvalue multiplied in the numerator
(3)%4%=66q (-1)=132 2- =132 2- -1320
(4 - -1320-( -12 +1)1- =1 2nd-11
(5) Jessica can’t have a negative amount of friends; thus, she has 12 friends
Quick Tips:  Order doesn’t matter for this question, so we use the combinations formula
The number of Republicans is 5100% larger than the number of Independents C
Tools: percent of change
Steps: (1) Answer choice C is looking for the percent of change between Rep. and Ind.
(2) =L=1_ 142201 2099 5 g, 5000%
4 4
(3) Republicans are 5000% larger than the Independents in the House, not 5100%
Quick Tips:  To convert a decimal to a fraction, just move the decimal to the right two times
5 —_
15 g
Tools: order of operations
Steps: (1) Dived both sides by 1 5 in order to get by itself (51—_5 =)
Quick Tips:  Always check your answer choices before trying to simplify
180 D
Tools: fractions
Steps: (1) Find common denominator for the fractions (12)
. 1,3, 4_38
(2) Add up the fractions (1—2;- 1—2: 5= 13
(3) Subtract from one (1 — o 1—;
(4) This fraction is the ratio of yellow jellybean to total jellybeans.
(5) Set this fraction equal to the number of yellow jellybean over the total number
4 _ 6
= —
(6) Cross multiply (4 =7 2)0
(7) Divide both sides by 4 (180)
Quick Tips: 9 The denominator must be the same in order to add two fractions
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9. < <

Tools:
Steps:

Quick Tips:

triangles

(1) The side across from the largest angle will always be the largest side (Z)

(2) The side across from the smallest angle will always be the smallest side (Y)

B < <)

9 Never estimate the length of the sides or angles. You must have mathematical
reasoning

10. 1

Tools:
Steps:

Quick Tips:

A

quadratic equations

(1) Although you cannot factor out the equation, you can use the fact that mis a
positive integer to evaluate the equation

(2) Note that the sum of the first two terms is equal to 7

(3)3 ?+4 -7=0-3 2+4 =7

(4) Also note that the sum of the values of the first two terms is also 7

(5) 3+ 4 = 7 (you cannot add the terms together, we are only evaluating the
values of the coefficients)

(6) If the values of the coefficients added together make 7, then we would not
want to change those values

(7) Inputting 1 into each term maintains the values of the coefficients

(8)3 2+4 _3(1)2%+4(1) -3(1)+4(1) -3+4=7

9 The other inputs do not result in 7

1 For simple equations, try inputting the answer choices for quick solutions

I You do not always need to start with the first choice

11. 217

Tools:
Steps:

Quick Tips:

deciphering word problems

(1) Set equal to the number of adults

(2) Subtract the children’s sale from the total sales. (3 6 365 1 3 5=72 2 758

(3) Set this equal to the number of adults multiplied by 10.5 (2 2 75& 1 b )

(4) Divide by 1 (b on both sides (2 1)7

1 Youdo not need to solve this type of question in one big equation, as it is
sometimes easier to perform the problem in smaller steps

3 +4
3

12.

Tools:
Steps:

Quick Tips:

averages

(1) Add all of the pounds of bananasup ( + ( +6)+ ( —2)=3 + 4)
(2) Divide that number by 3 (3 3+4)

1 Remember to divide by the total number of quantities

1 Another word for average is mean
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13 =% -15 C
Tools: perpendicular lines
Steps: (1) Solvefor ( = -7 +3)
(2) The slope of the perpendicular line is the negative reciprocal of the first slope
4
(3)
(3) The only answer choice with this slopeis = % -15
Quick Tips:  If an answer choice has the same slope that you are looking for, then you do
not need to simplify the other answer choices (A, B, or D)
14. 258 D
Tools: sequences
Steps: (1) Find the pattern by subtracting the first two numbers, then 2nd and 3rd
number, and the 3rd and 4t number (6-4=2;10-6=4;1 8 1 0= 8)
(2) Find the pattern of 2, 4, 8 (multiply by 2)
(3) Apply this to the rest of the set until you reach the 8th term
B432+r6412825)8
Quick Tips: q Answer choice A is far too low to be the 8th term
1 Notice answer choices C and D are very close to each other. This gives us a
hint that the answer is between these two choices.
15. 25 D
Tools: domain and range
Steps: (1) Plug in the lower end of the domain (—1) in the place of and solve (1)
(2) Plug in the higher end of the domain (3) in the place of and solve (2 §
(3) The maximum value must be 25
Quick Tips: f You can also plug in every integer between — 1 and 3 and see which value will
give you the maximum
16. The chart where Jack’s walk flattens at 3 miles and returns to zero. D
Tools: data analysis
Steps: (1) The keywords here are “before walking back”
(2) This tells us that the beginning and end of the graph, we will have the same
amount of distance
(3) The questions also states that Jack remains at the gas station for a period of
time
(4) This tells us that the graph will have a moment, in-between the beginning and
end, which will be flat
(5) The only answer choice that returns to the start and has a flat line in the
middle is answer choice D
Quick Tips: q Pay attention to the units of the graph

1 By just visualizing walking to and back from a gas station you can eliminate
answer choices A and B
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17. 1 A

Tools: mean

Steps: (1) Add up all the numbersinSetA(2+ 7+ 3+ 1 1+ 4+3=30
(2) Divide that number by 6 (5)
(3) Add up all the numbersinSetB(1+ 8+ 7+ 5+ 9+ 10+ 2=4 2
(4) Divide this number by 7 (6)
(5) Subtract the two means (7 — 6 = 1)

Quick Tips:  Remember to divide by the total number of quantities

1 Another word for mean is average

18. 2+ 242 -6 -6 +3 D
Tools: functions
Steps: (1) Substitute ( + )intheplaceof ( ()=( + )?-6( + )+ 3)
(2) Square ( + )inthenew function( 2+ 2 + 2)
(3) Distribute the — 6 across the parenthesis (-6 - 6 )
(4) Add everything together ( 2+ 2 + 2-6 -6 +3)
Quick Tips:  Think of step 3 as adding a negative + (=6)( + )

19. 2-2 +2 B
Tools: linear inequalities
Steps: (1) Find one point on the graph by entering Ointo (-2(0) + 2 = 2)
(2) Find the second point by plugging 1 into (-2(1) + 2 = 0)
(3) Graph the two points (0,2) and (1,0)
(4) Since is greater than or equal to the function, we will shade above the line
Quick Tips: | If the line slopes downwards, then the slope is negative even for inequalities

20. 2 x (0.5)3 is the greater value A

Tools: exponents

Steps: (1) Raise 0.5 to the third power (0.125)
(2) Multiply 0.125 by two (0.2 9
(3) Raise .2 to the fifth power (0.00032)
(4) Multiply 0.00032by 3 (0.0 0 0P 6
(5025000096

Quick Tips: f The higher the power on a fraction, the lower the end value will be

21. The least common multiple of 15 and 25 is the greater value A
Tools: multiples and factors
Steps: (1) Use 25 to find the least common multiple. Keep adding 25 to itself until we can
divide 15 and an integer is produced (75)

(2) To find the common factor, first try to divide the larger number by the smaller

number (17—550= 2)

(3) If they divide into a whole integer, then the smaller number will be the
greatest factor (7 9
Quick Tips: 1 will always be the lowest factor
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22. The perimeter of a rectangle with a base of k and a height of + 3is greater A
Tools: perimeter, triangles
Steps: (1) Find the perimeter of the rectangle by multiplying the two side length by two
and adding them together (2 + 2( +3) =4 + 6)
(2) Use the 45-45-90 ratios ( V2 = +V2) to find the side length ( )
(3) Multiply by4 (4 )
44 +6>4
Quick Tips:  The diagonal of a square will always create two 45-45-90 triangles

23. A set containing prime number greater than 6 and less than 32 is the greater value B
Tools: prime numbers, multiples
Steps: (1) Create a set of all even multiples of 3 {6,1 21 82 43 §
(2) Create a set of prime numbers between 6 and 32 {7,1 11 31 71 92 32 93 }
(3) There are more prime numbers than even multiples
Quick Tips: A number is prime when it can only be divisible by one and itself

24. The different outfits with one skirt, one blouse, and one scarf is the greater value A
Tools: fundamental counting principle
Steps: (1) For column A multiply the total number of skirts by the total number of
blouses and by the total number of scarfs (3% 7x 2 =4 2
(2) For column B multiply the total number of blouses by the total number of
blazers and by the total number of scarfs (7 x 2% 2= 2 §
342214
Quick Tips:  You can substitute anything for the clothes (food, roads, classes, etc...)

25. The two quantities are equal C
Tools: areas
Steps: (1) Solve for the largerarea( x = 2)
(2) Solve for the smallerarea( x = 2)

(3) Subtract the smaller area from the larger ( 2 - ?)
(4) Multiply ( + )and ( - )together( - 2)
Quick Tips:  You should always watch out for factors like ( + )( — ). They will always
yield ( 2 - 2)

26. ¥ 3 15is the greater value B

Tools: inequalities, powers, roots

Steps: (1) Simplify the equation in column A by subtracting the exponents (V ﬂ)
(2) Take the square rootv 2 8 (%)
(3) Simplify the equation in column B by taking the third root (  ®)
(4) 5 4

Quick Tips:  Plug in values to test the expressions

9 Since both columns contain x, we can ignore it in our comparisons
9 yisaninteger, so increasing the power increases the end product
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27.|3 + 8| is the greater value A
Tools: order of operations, absolute value
Steps: (1) Solve for by first multiplying 2 on both sides (3 + 8=2 8 2 )
(2) Subtract 8 and add 2 on bothsides (5 =2 Q
(3) Divide both sidesby 5 ( = 4)

(4) Plug in 4 in the place of the in column A and solve (|3(4) + 8| =2 Q
(5) Plugin 4 in the place of the in column B and solve (|1 4- (4)[=1 0
(6)20 10
Quick Tips:  Don'’t forget the order of operations (PEMDAS)
28.| — |isthe greater value A

Tools: absolute value
Steps: (1) Since the value will always be negative, we will always add the value to
which will give us a value greater than
(2) Since the absolute value of and are taken before they are subtracted, we
will get a value that is smaller than
G = I>11-11
Quick Tips: § Try plugging in a positive number for and a negative number for to test
which is greater

29. The volume of a cylinder with circumference 36 in.and height of 16 in. is greater B
Tools: volume of a cylinder
Steps: (1) Plug in the radius and height of column A into the volume formula of a cylinder
( = 2)andsolve ((3 & (4)?=180.863
(2) Divide the circumference of column B by 2 in order to get the radius (18)
(3) Plug in the radius and height of column B into the volume formula of a cylinder
( = 2)andsolve (16 (13 =1 776
H1e776-180814
Quick Tips: 1 You do not have to multiply the whole equation out to see which is greater

30. x (x ) is the greater value B
Tools: functions
Steps: 2
(1) Divide on both sides of the formula (x = —= —)
(2) Subtract the numerators exponent ( %) by the denominators exponent (1)
1
( 2 )
(3) Substitute this value for every x symbol in column A and simplify ( 2x =
l —
2= \/ ) 1 1
(4) Repeat this for columnB( "2( "z2x )= 0=1)
G5)1>v

Quick Tips:  The square root of any fraction will always equal another fraction
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31. The relationship cannot be determined from the information given D
Tools: exponents
Steps: (1) We do not know the value of b
(2) If b is a negative number, then column A will have a positive value while
column B has a negative value
Quick Tips:  Don'’t go through the trouble of plugging in the values. Take some time and
figure out if there is missing information

32. The percentage of completed shots in the first half is the greater value A
Tools: percentage
Steps: (1) Find the percentage of shots made in the first half by dividing the completed
from the attempted and multiplying by 100 (i—z_)x 108771 4%
(2) To find percentage of both halves, first find the number of shots completed in
the second by multiplying the percentage with the attempted (.4 6< 3 9= 1 §

(3) Add the two completed goals and divide that by the two attempted (2 ;; §=
60863BY
477468

Quick Tips:  To convert a decimal to a fraction, just move the decimal to the right two times

33. The slope of the line represented by = 4 + 2is the greater value A
Tools: slope
Steps: (1) Solve for in the equation in column B by adding 7 and subtracting4 (2 =
-4 +7)
(2) Divide both sidesby 2 ( = -2 +7)
3)4>-2
Quick Tips: 1 Don'’t forget the order of operations PEMDAS

34. The combinations containing one even number and two odd numbers is greater B
Tools: combinations
Steps: (1) Multiply the total number of numbers between 1 and 25 that are odd by the
number of numbers that are even squared (1 x 1 2=18 7 2
(2) Multiply the total number of numbers between 1 and 25 that are even by the
number of numbers that are odd squared (1 2«1 3=20 2 8
(3) 202581872
Quick Tips:  You don’t need to multiply itoutsincel 2x 1 3x 1 3> 1 2 1 2 1 3

35. The two values are equal C
Tools: probability
Steps: (1) The number of even and odd numbers on a dice is equal
(2) This tells us probability of rolling either odd or even will be the same
Quick Tips:  Always see if you can first solve the problem without doing any math
T In order to find the probability of 3 separate events, you would need to
multiply the probabilities of each event occurring together
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36. The amount of money in Account B after 3 years is the greater value B
Tools: simple interest, compound interest
Steps: (1) Calculate the interest in column A by first multiplying 100 to 8%
(1080 8 8)
(2) Add 8 to 100 and multiply that again to 8% in order to get the interest earned
the second year (1 0 8 0 8= 86 4
(3) Add that amount to 108 in order get the amount of money in Account A
(116.64)
(4) For column B, all we need to do is multiply the interest with the initial amount
3times (1 083(.1)1=33
(5) Add 33 to the initial amount in order to get the amount of money in Account B
(133)
6)1331164
Quick Tips: { Simple interest just mean interest paid on the original principal only
1 Youcan use thisformula( = (1 + -) )tosolve harder compound
interests
37. The two values are equal C
Tools: quadratic equation
Steps: (1) Factorout3 2+ 13+ 140
(2)32+13+140-3 +7)( +2)=0
(3) Set each parenthesis equal to 0, and solve for x
(43 +7=0-3 =-7 - =—§q =—2§
5 +2=0- =-2
(6) -2> -23
(NY-2=-2
Quick Tips: { If you don’t know which is the greater value, just solve for both

9 Ifyou are running out of time, you can try plugging in the number from column
B and see if it matches
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Reading Comprehension - Passage 1

1. This passage most likely appears in the introduction to a longer non-fiction work. B

Look to lines 20 to 21, “This chapter puts the Internet into context.” The sentence
Explanation  tells us that a whole chapter should follow the passage written. Due to the context
of the passage, the book must be a non-fiction book.

2. According to the passage, File Transfer Protocol accommodates longer and more

complex messages than E-mail. B

Look to lines 10 to 12, “you can transfer text files that are too long to mail (over
Explanation  about 50 pages) or even transfer graphics and programs.” The author clearly
states that the File Transfer Protocol is used for more complex emails.

3. Inline 2, “medium” most nearly means “means”.

The word medium is defined as a means of mass communication. The word
“means” is defined as something enabling somebody to do something. In other
words, the communication medium enables information to be transferred via
telephone, television or postal service to somebody.

Explanation

4. All of the following statements are true according to the passage EXCEPT: Home

computers generally connect to the Internet via a LAN. B

Look to lines 49 to 50, “WAN may or may not be part of the global network called
Explanation  the internet.” A WAN is a group of LANs, which tells us that the LAN does not
necessarily have to be connected to the internet.

5. The author assumes that the reader of the passage has more experience using the

telephone than the Internet. ¢

Throughout the first paragraph, the author compares using the internet to using
Explanation  the telephone. This tells us than the author assumes the reader may be more
familiar with a telephone.

6. The best title for this passage would be “The Internet in Context.” C

Look again to lines 20 to 21, “This chapter puts the Internet into context.” The
Explanation  author gives a basic view of how the internet works and what makes it work. The
author also relates the internet to a very familiar system, like the telephone.
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Reading Comprehension - Passage 2

7. The author’s overall attitude toward the town of Salem is ambivalent. A

The first paragraph goes into detail about the “long and lazy street” and other
bleak descriptions of the author’s hometown. However, in the second paragraph
the author claims that when he visits, a feeling of home comes over him. This is a
man that has mixed or conflicted feelings. He is ambivalent.

Explanation

8. According to the author, Salem is characterized by unattractive disarray. D

The word disarray means a disorganized and confused state. The author goes into
Explanation  length about the irregularity of the architecture and the contrasting areas of the
city.

9. The author ascribes his positive associations with the town of Salem primarily to

his family’s history over the last three centuries. B

In the second paragraph, the author describes the positive feelings he has towards
Explanation  the town Salem. He says that the “figure of that first ancestor” still “haunts” him
and “induces a sort-of home-feeling.”

10. The tone of the passage can best be described as formal. B

The passage paints a picture of the author’s town. He writes with structured and
Explanation = complicated writing, with a well thought-out opinion. This style of writing is seen
as formal.

11. In line 44, “progenitor” most nearly means ancestor.

| Explanation  The definition of progenitor is a direct ancestor of somebody or something.

12. The passage would most likely appear in a novel. C

Newspaper articles may have a writing style similar to this, but they tend to have a
Explanation  concrete idea or conclusion. A novel will most likely be the correct answer
because the writing style is very autobiographical.
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Reading Comprehension - Passage 3

13. The relationship between the United States and Costa Rican governments can best

. : . A
be described as amicable and cooperative.

Look to lines 5 to 7, “The United States and Costa Rica have a history of close and
friendly relations...” The definition of amicable is friendly. The passage also tells

Explanation  us that the two nations are working together towards “combating climate change”
and “environmental degradation.” In order to do this, the two countries must
cooperate with each other.

14. The purpose of the passage is primarily to convey factual information.

The author’s main purpose is to talk about the relationship between the two
Explanation  countries. The passage uses facts about their history, trade, government, and
more. There are no opinions or conflicts in the passage.

15. In line 32, “concluded” most nearly means signed. B

The definition of concluded is to come to a conclusion about something. In order
Explanation  for the agreements to conclude, the agreements must be completed and signed to
be official.

16. The U.S.-Central America-Dominican Republic Free Trade Agreement (CAFTA-DR)
does all of the following EXCEPT establish youth empowerment programs.

Look to lines 49 to 52, “U.S. Peace Corps volunteers work in economic
development, education, and youth empowerment programs.” The passage does
mention that youth programs were created, but it was not the CAFTA-DR that did
SO.

Explanation

17. The “maritime cooperation agreement” described in lines 18-23 is included as an

. : C
example of a cooperative law enforcement effort between the US and Costa Rica

The sentence before states that the US and Costa Rica enjoy a “robust bilateral law
Explanation  enforcement cooperation.” This tells us that the maritime cooperation agreement
is an example of cooperative law enforcement.

18. The first event was Costa Rica becoming independent from Spain.

Look to lines 2 to 3, “...Costa Rica in 1851, following its independence from

Explanation Spain...” No other date comes before 1851.
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Reading Comprehension - Passage 4

19. The main purpose of the passage is to give an overview of RMS robot arm

technology. D

The last half of the passage focused on what the RMS robot can do and what it can
Explanation  be used for. The passage does not pick a side, human or robot, but rather
describes the full capability of the robotic arm.

20. We can infer from the passage that the life support systems required for human
space travelers cannot be maintained for extremely long voyages.

Look to lines 8 to 10, “Human space travelers require extensive life support
Explanation  systems.” The passage later explains that a human could only survive going to the
moon.

21. In line 38, “instrumental” most nearly means critical. A

The definition of instrumental is to play an important part in achieving a result.
Explanation ~ The word critical, which means extremely important, most nearly matches
instrumental.

22. The author includes Hubble telescope mission in order to support the claim that

robots and humans bring complimentary capabilities to space exploration. <

The Hubble Space Telescope is first mentioned on line 59. The author then goes
on explaining what the RMS hand did on the mission to the Hubble telescope. Not
Explanation  only was the RMS controlled by the astronauts, it also was at one point used to
help the astronauts in spacewalking. The robot and human work together to
complete a mission, proving that they can be complimentary to each other.

23. Grapple fixture is NOT a component of the RMS robot arm. C

Look to lines 56 to 57, “...grapple fixtures are attached to the objects the RMS is
Explanation  trying to grasp.” This tells us that the grapple is not physically attached to the
RMS. Instead, the RMS will attach it to object it wants to move around.

24. The style of this passage is technical yet accessible. D

The passage goes into detail about the RMS and its “seven degrees of freedom.”
But the author describes the detail in a very clear and accessible (easily
understood) manner. For example, as the author describes each degree of
freedom, he compares it to that of a human arm.

Explanation
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Reading Comprehension - Passage 5

25. The author’s primary goal in this passage is to persuade. C

The author claims that humans, at the moment, cannot create art the way we did
in the past. He then begins to persuade the reader on the idea that there is a group
of individuals, who he calls “the Primitives,” that will make art “on a fundamental
truth.” Furthermore, he is trying to persuade the reader on the idea that
materialism causes this absence of truth in art. In the end, this is just an opinion of
one person.

Explanation

26. The author makes a claim that primitive artists focus on the expression of internal

: A
impulses.
Look to lines 32 to 34, “... these artists sought to express in their work only
Explanation  internal truths.” The author then states that the Primitives renounce all
consideration of external form.
27. Inline 47, “presentiment” most nearly means an intuition. C

The definition of presentiment is the feeling that something will happen. The
author knows that eventually the Primitives will succeed in creating this “light.”
The author instinctively believes that this would happen, even without any proof.
This is known as having an intuition.

Explanation

28. The author uses the image of a monkey reading a book in order to illustrate his

claim that imitations of another era’s art forms lack meaning in the present. B

Even though the monkey is holding a book and imitating the action of reading, it
cannot read. In other words, the monkey is imitating the action of reading, just
like how artists are imitating those of the Greeks. The Greek artists created their
pieces of art through internal emotions and used nothing but their imagination.

Explanation

29. The opinion expressed is that art should reflect the culture and ideals of the time in
which it is created.

In lines 5 to 7, the author compares art that tries to revive the past at best
Explanation  “produce an art that is still-born.” An artist must reflect cultures of today in order
for his or her art to be alive.

30. The “costly vase” described in lines 54-56 probably represents the contemporary

human soul. L

Look to lines 53 to 54, “Our soul rings cracked when we seek to play upon it, as
does a costly vase...” The author compares the soul to a vase, in order to
demonstrate how easily the soul of a painting can be damaged when revived after
being “buried in the earth.” Another reason not to revive the art of the past.

Explanation
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Reading Comprehension - Passage 6

31. The author of this passage finds pirates fascinating. B

The author seems to be concerned with the lack of information about pirates in the
“Dictionary of National Biography.” He then proceeds to describe the different
types of pirates in detail. The author has a positive view of pirates; therefore, he
must be fascinated by them.

Explanation

32. In line 37, “spoils” most nearly means booty. A

In this context, a spoil is defined as property seized by a victor. “Gold dust” is a
Explanation  very valuable object, and a pirate will do anything to obtain it. Booty is defined as
seized or stolen valuables.

33. According to the author, the “Dictionary of National Biography” contains far more
information about theologians than about pirates.

The author claims in the first few lines that pirates do not have enough
information written about them. The only pirates mentioned were Kidd, Teach,
and Avery. The unseemly person is not seen as much as others. Theologians are
not considered unseemly.

Explanation

34. Pirates generally began their careers in the merchant service. D

Look to lines 60 to 61, “He usually began his life at sea as an honest mariner in the
Explanation = merchant service.” The author later describes the process in which the merchant
turns into a pirate.

35. The passage states all of the following about the Puritans EXCEPT; recently, they

. : : : D
have begun to show a proper interest in the lives of pirates.

The information regarding Puritans can be found between lines 30 to 40. Nowhere
Explanation  in the passage does it mention that Puritans have started showing interest in the
lives of pirates.

36. This passage would most likely be found in the introduction to a work of non-

- D
fiction.

Since pirates did exist in the past, it would be considered a work of non-fiction.
However, the author does not have enough information on specific events and

Explanation  people, so it would not be considered a historical novel. Furthermore, the author
did not conclude his initial thought on why pirates have been neglected, which
tells us that the passage must be an introduction to a work on non-fiction.
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Mathematics Achievement

1. 30

Tools:
Steps:

Quick Tips:

C
combinations
(1) Since the order of clowns does not matter, we need to plug the information

into the combinations formula ( m _' = 3'(5_3)|)

(2) Subtract 5 by 3 to get 2! inside the parenthesis

(5%4x3x2x1) _ 5x4

3x2x1(2x1)  2x1 )

(4) Solve by multiplying the top and dividing by 2 (10)

(5) Now multiply this number by the total animals choices (1 O 3= 3

1 We multiply by 3 because they are two separate sets (fund. counting principle)

(3) Expand and eliminate like terms (

10 7

2. 4 a

Tools:
Steps:

Quick Tips:

power rules

1
(1) Convert the radical to an exponent (( 104 7)a)
10
(2) Distribute the exponent across the parenthesis ( 4
10 7

(3) Simplify the exponent abovethe ( 4 3)
' When you take a radical of something (v ), you can rewrite the function with
1

4
4

7

the reciprocal of the radical as an exponent ( )

Tools:
Steps:

Quick Tips:

deciphering word problems
(1) The variables for this equation represent monetary values

(2) Set up the equation for flubbies and glinkos (6 = )

(3) Set up the equation for glinkos and plexoos (3 = )

(4) Now set up an equation for plexoos and flubbies from the first two equations
(5) Start by plugging 6 in the place of the in the second equation (1 8 = )
(6) Set up the equation with 72f: 7 2 = , where x is the # of p needed for 72f
(7) Input 18fforx: 72=(18) - =4
9 Pick easy letters for the variables like

for books, or for flubbies

Tools:
Steps:

Quick Tips:

Deciphering word problems

(1) Write out the function with the appropriate variables
(5+4 +65+125+4 = )

(2) In order to find the maximum amount of chocolate bars, we need to plug in the
minimum number of fruit and set it equal to 14

(3) Plug in the restrictions for the teddy bear and the fruits.
(5(2)+ 42)+ 6 82)+125%)+41)=13

(4) Simplify (1+ 8+ 13+ 125+4=71+125)

(5) Subtract 1 4y 7.1, then divide by 1.2 5and then round down (5.5 2= 5)

1 Don't forget your order of operations PEMDAS
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5. TandIIl only

Tools:
Steps:

Quick Tips:

sets

(1) n stands for the intersection of the two sets (what is the same)

(2) stands for the combinations of both sets

(3) Since C equals to all of the numbers in sets A and B, the intersection of sets A
and C will be all of set A

(4) The same thing can be said about the intersection of set B and C

(5) I'and III are the only correct answers

9 Ifyou are having trouble with these rules, just pick a few numbers to place in
your set ( = {1,2}, = {3,4}, = {1,2,3,4}) and plug them into
the answer choices to see which is true

Tools:
Steps:

Quick Tips:

D
squares, circles
(1) Since the circle is inscribed in the square, the diameter of the circle will be the
side length of the square
(2) Multiply the radius by 2 to get the diameter (2 )
(3) Multiply this number by 4 to get the perimeter (8 )
1 Remember that the perimeter of a square will always be 4 times the side
length

7. 32
Tools:
Steps:

Quick Tips:

radicals

(1) Plug in 64 everywhere yousee  (3V6 4+ 236 3

(2) Take the square root and third root of 64 (3(8) + 2(4))

(3) Multiply then subtract (2 4 8= 3 2

9 Don’t let the look of the radicals confuse you

1 You cannot add the coefficients of the radicals together unless they are the
same kind of radical and the value underneath the radical is the same, such as
AT+ 7 =13

Tools:
Steps:

Quick Tips:

angles

(1) Since the side lengths of a rectangle must be equal

(2) The two sides formed by a split in the midpoint must be equal

(3) Therefore, the two triangles formed by the side of the rectangle and the
midpoint, must be equal

(4) Which then tells us that angle A and angle D will be congruent

1 You can always approach this type of question by seeing which answer choices
could be false, and then use process of elimination
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9. 54 C
Tools: perimeter
Steps: (1) count the total squares that make up the shaded region (10)
(2) Divide the area by the number of squares ( i—g= 9)
(3) Each square will have an area of 9, take the square root of 9 to get the side
length of each square (3)
(4) Add up all the sides that make up the perimeter (18) and multiply it by the
length of each side (3x 1 85 4
Quick Tips:  Watch out for unnecessary information
10. 5 7 6cm3 B
Tools: volume of cylinder
Steps: (1) Divide the diameter in half to get the radius (6)
(2) Since the juice is half filled, we will need to divide the height in half (16)
(3) Plug these values into the volume formula( = (1 § (6)?)
(4) Square 6 and multiplyitto 16 (5 7 §
Quick Tips:  Look at the answers first to see if you need to multiply by
1 You could also find the volume of the whole cylinder and then divide it by half
11. $588.33 B
Tools: deciphering word problems
Steps: (1) Find the total amount Jeffrey earned in 47 hours (4 7 1 16 5=5 4599
(2) Since Jeffrey worked 7 hours over the 40 hour weekday, we need to calculate
the extra money he made
(3) Take 50% of 11.65 (.5%x 1 16 5= 58 2)5
(4) Now multiply this with the 7 hours he worked over time (58 2 87=4 O 7 b
(5) Add this amount with the total amount he earned from step 1 (5 8.8 2)5
Quick Tips:  Try rounding these values when you are multiplying

12. 1000 miles
Tools:
Steps:

Quick Tips:

C
percentages
(1) Add up the percentage of the first day with the percentage of the third day
50%20%70%
(2) This means that the second day equals 3 0 %f the entire trip
(3) Divide the 300 miles by 30 percent, this will give you the total miles traveled in

one percent of the trip (%0: 10

(4) Now multiply this by 100, thus giving you the total miles that Steve and Jeff
traveled (1 0 Q O
0

. . . : 30
1 You can also set up this equation using proportions (ﬁ = ﬁ)o
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13. 4

Tools:
Steps:

Quick Tips:

A
weighted averages
(1) Multiply the average grade for Biology class with total number of students that
attend biology (9 0x 1 0= 9 0)0
(2) Do the same for the chemistry class (8 0x 1 0= 8 0)0

(3) Add the two totals and divide it by the total number of students taking both
806900

classes ( o - 89
(4) Repeat the steps above with physics ad ecology (81.43)
(5) Subtract the two averages (8 5- 8 ¥4 3= 35 7= 4)
1 Never average averages
1 Make it easier on yourself by writing the total number of students above each

class

14. 2

Tools:
Steps:

Quick Tips:

B
deciphering word problems
(1) Since Bob makes 3 mistakes when Biff makes 1 we can write out our fractions

and add them together L 2

+_
4

(2) Set this equal to the 8 mistakes over 8 cakes L 3 3

+— ==
4 8

(3) Multiply Biff and Bob by % in order to get the same denominator
2 6 8
(% =35)
(4) We now see that Biff will make 2 mistakes when there is a total of 8 cakes
1 You can also set up the problem in a ratio

15. 45°

Tools:
Steps:

Quick Tips:

intersecting parallel lines, vertical angles

(1) A parallelogram will always have two parallel lines

(2) line intersects the two parallel lines on the parallelogram
(3) Angle will have to be supplementary to 135 (45)

1 Supplementary angles are two angles that add up to be 180
1 Complimentary angles are two angles that add up to be 90

16. (4m, 5v)

Tools:
Steps:

Quick Tips:

midpoint

(1) Add thetwo values(2 +6 =8 )
(2) Divide the sum by two (4 )
(3) Add thetwo values (7 + 3
(4) Divide the sum by two (5 )
G)@ 5)

1 Don’t worry about memorizing a formula, just take the average of the ’s and

)

S

=10)
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17.3-v2- 3 C
Tools: powers, roots
Steps: _ . £ 6% 2%
(1) Distribute the exponent across the parenthesis (1 8 )
1
(2) Multiply the two exponent (1 8 3 1)
(3) Take the square root of 18 (3v2 3 )
Quick Tips: 9§ An exponent of% is the same as taking the square root
1 Ifyou stop at step 2, you can eliminate answer choices A and D
18.1404 58161 C
Tools: subtracting scientific notation
Steps: (1) Change6.5 4 91 8to 1 8 by moving the decimal place to the left two times
(0654969
(2) Subtract the numbers in front of the1 (14 04 51 &9
Quick Tips:  If you are making the exponent on the 10 bigger then you will have to move
the decimal to the left and to the right if you are making it smaller
19. 12 A
Tools: exponents, radicals
Steps: (1) Take the fourth root of 81 (3)
(2) Take the third root of 64 (4)
(3) Multiply them together (12)
Quick Tips: 9§ An exponent ofg is the same as taking the third root
20. (3,19 C
Tools: system of equations
Steps: (1) Substitute the value of of the top equation with the in the second equation
@4 +7=-3 +290
(2) Subtract 7 and add% to both sides (1?3 =13
(3) Multiply both sides by 113( = 3)
(4) Plug this number into one of the equations and solve for (4(3)+ 7=1 9
(5) (3,19)
Quick Tips:  You could stop at step 3 because C is the only one with 3 as the value
21.3 B
Tools: absolute value
Steps: (1) Solve for the negative value of the absolute value first ( — 4 = - 5)
(2) Subtract on bothsides (-4 = %)
(3) Multiply both sides by — (3)
Quick Tips:  An absolute value can never produce a negative
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22. -1

3 B
Tools: powers
Steps: (1) We can see that the 3 is not only negative but a smaller value than 2
(2) Thus, mustbe negative and between—1and 0 (- %)
Quick Tips: { A negative number will always be positive with an odd exponent
1 Numbers between — 1 and 1 will always approach zero the higher the
exponent
23. 2> C
Tools: arclength
Steps: (1) Find the circumference of thecircle( =2 =2 6=1 2)
(2) Since line cross the center of the circle, the angle between and must be
suplimentaryto3 5(1 4 % °
(3) Divide the angle between and Gby 3 6 Qufd reduce [%g: i—j
(4) Multiply this value by the total circumference ( i—zx 12= %)
Quick Tips:  When you are dealing with make sure to check your answers before working
on the problem to see if you actually need a value for
24. 2 C
Tools: percent, probability
Steps: (1) Add the percentages of everything but macadamia and pecan (6 0 %o
(2) Divide thatby 1 0 0 G, = = 2)
Quick Tips: | If the question said “and,” then we would use the percentage of just the
macadamia and pecan nuts
25. Wendy completed the test, but Ronald did not A
Tools: data analysis
Steps: (1) Ronald (solid line) stops at around 6 5 %t the end of the 20 minute mark
(2) Wendy (dotted line) stopsat 1 0 O &othe end of the 20 minute mark
Quick Tips: q If the first answer choice is true, move on to the next question. You can always
check if the other choices were false at the end
26. +3 A
Tools: sets, integers, mean
Steps: (1) Write out the 7 numbersintermsof ( , +1, +2,... + 6)
(2) Add all of these terms together (7 + 2 ]
(3) Divide by the total number of terms (7 ;2 =4 3)
Quick Tips:  When the numbers in a set are consecutive, you add one to the previous term

1 When the numbers in a set are consecutive odd or even numbers, you add two
to the previous term
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27. 2160 C
Tools: deciphering word problems
Steps:
(1) Add up the total cost of the hamburger stand (1 0 0+04 0814 Q O
(2) Add this to the profit (1 4 0+01 3 0=02 7 Q O
(3) Divide this amount by the $1.2 55222 2 1 § 0
Quick Tips:  The earnings do not include the rent or the staff costs
28. $110.25 B
Tools: compound interest
Steps: (1) Plug in the information into the compound interest formula
( =100+ 0%
(2) Add the numbers inside the parenthesis ( = 1 0(0.0 5?)
(3) Square 1.05( =1 0(a.1 0 2)5
(4) Multiply (1 1.D %
Quick Tips:  To convert a percentage into a decimal, just move the decimal to the left twice
29. 29% C
Tools: measurements, percentage
Steps: (1) Triple the original amount of tea (6 gallons)
(2) Multiply this by 4 quarts (24 quarts)
(3) Subtract 17 quarts (7 quarts)
(4) Divide the 7 remaining quarts by the original amount (2l4= 2%F29%
Quick Tips: { There are four quarts in every gallon
-1
30. 75— D
Tools: probability
Steps: (1) Since 2 jewels were taken out and not replaced, the total number of jewels will
be + + -2
(2) Since 1 green jewel has already been taken out and not replaced, the total
number of green jewels remaining willbe -1
(3) Divide the remaining green jewels by the total remaining jewels ( — :1_2 )
Quick Tips: § If you find yourself confused, just pick easy numbers for , ,and (2, 2, 2)
11
31 A
Tools: data analysis, probability
Steps: (1) Add up the total number of Griffons and Serpents in thousands (6+ 5=1 1
(2) Divide this number by the total number of creatures (;—é
Quick Tips:  Pay attention to the units of a graph
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5 6

32. [ 5 7] B
Tools: matrices
Steps: (1) Add up the top left quadrant (5)
(2) Add up the top right quadrant (6)
(3) Add up the bottom left quadrant (5)
(4) Add up the bottom right quadrant (7)
(5) Plug them back into the respective quadrants [g g]
Quick Tips:  The same procedure is done for subtracting matrices
33.= A
Tools: deciphering word problems
Steps: (1) “Seven times a number” can be written as 7
(2) “the number added to two” can be writtenas + 2
(3) Set these two statements equal to each other (7 = + 2)
(4) Subtract onbothsides (6 = 2)
(5) Divide both sidesby 6 (= 3)
Quick Tips: 1 Remember the order of operations (PEMDAS)
9 Look for key words when deciphering (as, less than, greater than,...)
34.7 C
Tools: polynomials
Steps: (1) Divide the equationby3( 2+2 + 2=49
(2) This is an example of a positive perfect square (( + )?)
(3) Setthisequalto49 (( + )?=49
(4) Square bothsides( + =7)
Quick Tips:  If the middle variable is negative, then it would have been a negative perfect
square
1 Always simplify the equation before factoring
35.9 B
Tools: averages
Steps: (1) Add the numbers in the set together
B3+7+6+ +1H = + +27
(2) Divide that sum by the 6 and set it equal to 6 ( s 6+2 '= 6)
(3) Multiply both sidesby6( + +2 7=3 §
(4) Subtract 27 on bothsides( + = 9)
Quick Tips:  The whole second sentence is unnecessary information
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36. ()= 2+4 C
Tools: quadratic functions
Steps: (1) Since there is a curve and the line is not linear, the graph most likely will be
quadratic
(2) The intercept of the graph is at (0,4)
(3) The graph is also opening up, which tells us that the 2 must be positive
(4) The only answer choice with a quadratic, positive 2, with4asa interceptis
()= 2+4
Quick Tips: | If the graph was opening downward, then 2 would be negative

9 Just plugging in (0, 4) would not narrow down our answer choices

37. 1,11, and I1I D
Tools: exponents
Steps: (1) If was larger than 1, then choice I is true
(2<22< 29
(2) If equalsto1and — 1, then choice Il is true
1=1 (-1°<(-1?
(3) If equals an integer less than — 2, then choice 11l is true
(-2°<(-2) < (-2
Quick Tips:  When you raise a negative integer to an odd exponent, the value will always be
negative
1 When you raise a negative integer to an even exponent, the value will always
be positive
38. 77% B
Tools: percentage
Steps: (1) Count up the number of sides that already exist (13)
(2) Count up the sides that the farmer wants to put up (10)
(3) Divide the number of sides wanted by the number already existing (i—2= .7 6)9
(4) The increaseis 7 @ %-7 7 %
Quick Tips: q The 20 yards is just excess information
39. 4 C
Tools: data analysis, averages
Steps: (1) Since Everett and Pancho only have one type of pet, we must exclude their pets
from the data
(2) The total number of pets, except Everett’s and Pancho’s, is 12
(3) Now divide the total number of pets by the 3 remaining students (1?2= 4)
Quick Tips: q Pay attention to the wording of the question

Page |31



Upper Level ISEE Prep Guide Practice ISEE #4 - Answers and Explanations

40. =12-1 B
Tools: quadratic equations
Steps: (1) Subtract 84 on bothsides:2 - 17 -8 4= 0
(2) Factorout2 ?-17-840-(2 +7)( -12=0
(3) Set each parenthesis equal to 0 and solve for x
42 +7=0-2 =-7- =-1
5) - 1220~ =12
Quick Tips:  You can always plug in the answer choice to get the answer
1 Only Answer choice B has a second value for x that is negative
9 Always plug in the values that are different (not 12)
41. $1,500 C
Tools: averages
Steps: (1) Add up all the sales Reginald made in the last five months
G5PD062P0BG4PDO0OB4DOBG4DHD0O62060)0
(2) Divide by five >—~% 4 10 0)0
(3) Subtract the company-wide average (4 0 063 & 06 30 0)0
(4) Divide this number by 1,000 (3)
(5) Multiply by 500 (1,5 0)0
Quick Tips: f Make sure to write down your work when doing these types of problems.
Trying to juggle a bunch of numbers in your head will confuse you
42. Il and III only C
Tools: exponents
Steps: (1) Plug in each choice and see which one works
(2) ChoiceII ((0)? = 6(0) = 0)
(3) Choice Il ((6)2 = 6(6) - 3 §
Quick Tips: | Always start by plugging in the easiest term (0)
43. 6 B
Tools: circles, triangles
Steps: (1) Since the radiusis 3,line  will also equal 3
(2) Line  will equal the radius plus 2 (5)
(3) Sinceline s tangent to the circle, the angle that forms at the dotted line will
have 90 degrees
(4) Thus, triangle will be a right triangle with a pattern of 3-4-5
(5) Plug in the base and height of the triangle into the area formula ( % (4)(3) = 6)
Quick Tips: q The area of a triangle will always equal one half times the base, time the height

1

(=5 )
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44. 3 hours D
Tools: distance, rate, time, deciphering word problems
Steps: (1) Divide the diameter in half and add it to the altitude ("~ 2364 1 § 9
(2) Plug that number into the circumference formula(2 =2 (41892 & 0)6
(3) Divide the distance by the speed of the Space Station (i 3 2 2=§ 15)
(4) This is the time it takes to circle the earth once, multiply this by two to get the
answer (3 hours)
Quick Tips:  Watch out for the last step in this problem
1 Remember the rate formula ( = -)
45. 40% B
Tools: average, percent
Steps: (1) Multiply the 2 liters with the 20 percent of ethanol (2 x .2 = 4)
(2) Multiply the 4 liters with the 50 percent ethanol (4 x .5 = 2)
(3) Add these two values together (2.4)
(4) Divide this by the total number of liters (%4 =4=40%
Quick Tips:  The easiest way to convert a decimal to a percentage is to move the decimal
place to the right twice
3 3
46. —— D
Tools: geometric sequence
Steps: (1) Since the sequence is geometric, we must divide the third term by the second
2 2
term to find the rate ((—)/ (=) = — )
2 2 3 3
(2) Multiply this to the 3rd term in order to get the 4t term (—X — = ——
Quick Tips: { For an arithmetic sequence, we would subtract the 3rd and 2nd terms
47. value: $3000; repair cost: $1,333 C
Tools: inverse variation, direct variation
Steps: (1) Since the value of the car is inverse to the year, the price will go down as the
age goes up
(2) However, the repair cost is directly proportional to the age, so the cost price
will increase as the age increases
(3) Thus, the answer must have a lower value and a higher repair cost
(value: $3000; repair cost: $1,333)
Quick Tips:  Notice that there are two answer choices (A and C) that are opposite of each

other. This is a great place to start testing your answer choices
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Essay

If you could change an action you took in the past, what would you change and why?

Brainstorming

The prompt is asking you about a moment in your life that you may regret. Think of something that
you may have done that may have affected another person. Maybe you did something that changed
your life in a bad way. What would you change and why?

=A =4 =8 -8 -8 A

[ didn’t study for my history test and failed

[ blamed my sister for breaking the TV

[ pretended to be hurt during the basketball tournament
[ forgot to get my Mom something for Mother’s day

[ stole a candy bar from the store

[ burned my thumb trying to light a firework

Outline

#1 v
Stand up to-
feow

#2
A team effort

*3 Set awv

exaumple for
brother

«  Should not let
feow take over
« Itsoktolose

+ Ittakesa tecunw

to-wm/a/gmw

« I shouwld show

my brother it iy
ok to-lose
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Section 5 - Essay (EXAMPLE) 30 Minutes

Please write your essay prompt here.

If you could change an action you took in the past, what would you changerhy?

The action | regret the most happened a year ago. It was the championship matct
ofthe"gr ade boysd éndwekwere doar bl tert peirtgth eight

minutes left. | was tiredand frustrated, due to it not being my best game. | panicked

and fell to the floor,grasped my leg and faked an injury. This was not my most

honorable moment. | want to erase tlirem the history books becausehould have

stood up to myfears, | could have won the game, and | could have set an example for

younger brother.

Standing up to your fears is not an easy thing to dg but it can teach you difelong

lesson. Ipretended to be injured because | was afraicbgel | grew upratching movies

where the good gwywin and the bad guys always bse. | never samyself as bad

person so when the time came that | was losing and feared the worpgicked. But if

| couldgo back in time and stop myself, would. | can tellmy old selft hat it 0

lose If | had faced my fears at that basketball game, | probably would hadsa the

courageto ask a girl out to the eight grade prom, or tried out for the soccer te@nce

you start to fear one thing, whether it be failure or asking a girl out on a date, yauill

start to fear many things.

Whoistos ay t hat we c d&wdsdntyden poimtaia @ghtmioutes.

If I had just got up and tried harder, and helped my team, we could have washolld

not have put the whole game on my shoulders. It was not my job to win the game; it"

thet eamds job to win. | was a cruci al

year, | had to work with three other students to write a report on the civil war. | was n

familiar with the southern side of the war, but one of my group matess. We worked

as a team and we were able to finish the assignment with an A. That game was not r

best game. In fact, it was the worst scoring game | evad. Maybe | should have stood
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up and passed the ball moré.could have giversomeone else the chance to show off th

strengths. If 1did that, then we would have worked as a team, combining our strengtt

and weaknesses, in order to win the game.

Win or lose, by standing up to my fears or playing as a team, | could have set an

example for my younger brother. He was sitting right behind the bench cheering for r

towin. Ifonly I had stoodup, Icouldha e s hown h psen VEshauld o k

competeforfumnd hope to succeed, but iif we

got up andshown him the power of team work, maybe he would go on and value the f

ability rely on others.He could carry on those lesssto his team next year and maybe

even use it tavin. By staying on the ground, | instead made it okay to lie and give up.

If I could takeback that night on the court, | would have taughty brother a valuable

lesson in goodsportsmanship.

In the end, that night still happened. 1 still fell on the floor and pretended to feel

pain. | cannot take it back, but | can still learn from my mistake. | can now hold my

headup when | lose a game. | am extremely proud and grateful to be on a team. Mos

importantly, | have shown my brother what not to do, and have admitted to my mistak

While | would change this mistake if | could, | am better for the experience.
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